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8.172 x 100000 = 7.864 x 10000 =

1.049 x 1000 = 7.053 x 1000 =

10.178 x 1000000 = 6.128 x 1000 =

9.275 x 100000 = 3.367 % 10 =

2.009 x 10 = 1418 x 1000 =

5.772 x 100000 = 9.648 x 100000 =

1.884 x 100000 = 7.782 x 1000000 =

2.549 x 100 = 9.503 x 100 =

10.5 x 10000 = 6.433 x 100000 =

5.412 x 1000000 = 9.475 x 100 =
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E = Q N1 0f 0
W4 A 9 e
8.172 x 100000 = 817200 7.864 x 10000 = 78640
1.049 x 1000 = 1049 7.053 x 1000 = 7053

10.178 x 1000000 = 10178000 6.128 x 1000 = 6128

9.275 x 100000 = 927500 3.367 x 10 = 33.67

2.009 x 10 = 20.09 1.418 x 1000 = 1418

5.772 % 100000 = 577200 9.648 x 100000 = 964800
1.884 x 100000 = 188400 7.782 x 1000000 = 7782000
2.549 x 100 = 254.9 9.503 x 100 = 950.3

10.5 x 10000 = 105000 6.433 x 100000 = 643300
5.412 x 1000000 = 5412000 9.475 x 100 = 947.5
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